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Question ID
Option 11D
Option 21D
Option 31D

Chosen Option

: 630680641996

: 6306802513402

: 6306802513399

: 6306802513401

Option 41D :
Status :

:C

6306802513400
Answered

Q.2  Which type of protection circuit is responsible for shutting down the inverter in case of excessive temperature?

Ans

X A Surge protection

X B. Voltage regulation

« C. Thermal protection

X D. Overcurrent protection

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 1D

Chosen Option

: 630680641944

: 6306802513191
: 6306802513192
: 6306802513193
: 6306802513194
Status :
:D
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Question'ID : 630680641989
Option 111D : 6306802513371
Option 2 ID : 6306802513372
Option 3.ID:'6306802513374
Option 4 1D : 6306802513373
Status : Answered
Chosen Option: D
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Ans
v A Bg ATTH
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Question ID : 630680642014
Option 11D : 6306802513473
Option 2 ID : 6306802513474
Option 31D : 6306802513471
Option 41D : 6306802513472
Status : Answered
Chosen Option: C
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Question ID : 630680641969
Option 11D : 6306802513292
Option 2 ID : 6306802513293
Option 31D : 6306802513291
Option 41D : 6306802513294
Status : Answered
Chosen Option : A
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Question ID :
Option 11D
Option2 1D :

Option 3 1D
Option 4 ID
Status

630680641987
6306802513364
6306802513366

6306802513365
: 6306802513363
: Answered

Chosen Option :
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Question ID :
Option 11D :

Option 2 1D
Option 3 ID
Option 4 ID

Status

630680641949
6306802513213

: 6306802513211
: 6306802513214
6306802513212
: Answered

Chosen Option :

D

Q@8 What is the binary equivalent of the decimal number 25?

Ans

X A 11101
X B 10101
X C 10011
« D 11001

Question ID :
Option 11D :
Option 21D :

Option 31D :
Option 41D :
Status :
Chosen Option :

630680641976
6306802513320
6306802513319
6306802513322
6306802513321
Answered
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QuestionD:: 630680641997
Option 1.ID : 6306802513403
Option 2 ID: 6306802513406
Option 3 ID : 6306802513404
Option 41D : 6306802513405
Status : Answered
Chosen Option: C
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Question ID : 630680641968
Option 1 ID : 6306802513287
Option 2 ID : 6306802513289
Option 3 ID : 6306802513290
Option 4 ID : 6306802513288
Status : Answered
Chosen Option : B
Q11 grgerm FfeRT TURITT S0 WA, S-EoE Tord &1 S0ad FI & T 39a0T FT A a7
e gerg Far 7
Ans
v A E (Q)
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Question ID : 630680641957
Option 11D : 6306802513244
Option 21D : 6306802513246
Option 31D : 6306802513243
Option 4 ID : 6306802513245
Status : Answered
Chosen Option : A
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Question ID :
Option 11D :
Option2'ID :
Option 31D :
Option 41D+

Status :
Chosen Option : D
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Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

630680642002
6306802513426
6306802513423
6306802513424
6306802513425
Answered

A

Q.14 wWhich of the following is a characteristic feature of a semiconductor fuse?

Ans

X A High intermpting capacity
« B. Rapid response time
X C. Replaceable element

X D. Suitable for high-voltage applications

Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

630680641982
6306802513344
6306802513346
6306802513345
6306802513343
Answered

Chosen Option : D
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Ans

Question ID
Option 11D
Option 2 ID
Option 3 ID
Option 41D

Status

: 630680641990
1 6306802513376
: 6306802513375
: 6306802513378
6306802513377
- Answered

Chosen Option : A
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Question ID :

Option 11D
Option 2 1D
Option 31D

Chosen Option

630680641936
1 6306802513160
1 6306802513159

: 6306802513162
Option 41D :

Status :
:D

6306802513161
Answered

Q.17

Ans

What is the purpose of brushes it an electric motor or generator?

< A To provide mechanical support to the rotating components.
< B. To clean the commutator or slip.rings.
" C. To maintain a continious'@lectrical contact with the commutator or slip rings.

#< D. To control the temperature of the motor.

Question ID

Option 2 1D
Option 31D
Option 4 1D
Status :

Chosen Option :

: 630680641952
Option 11D :

6306802513226

: 6306802513224
1 6306802513225
1 6306802513223

Answered
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Question ID : 630680641953
Option 11D : 6306802513230
Option 2'1D: 6306802513227
Option 31D : 6306802513228
Option 41D 6306802513229
Status : Answered
Chosen Option : B
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Question ID : 630680641992
Option 11D : 6306802513386
Option 2 ID : 6306802513383
Option 31D : 6306802513384
Option 4 ID : 6306802513385
Status : Answered
Chosen Option : B

Q.20 Inaudio systems and electronic devices, which type of transformer is often employed to match impedance between
different components?

Ans XA Instrument Transformer
X B. Auto-Transformer
« C. Andio Transformer

X D. Power Transformer

Question ID : 630680641964
Option 11D : 6306802513274
Option 2 ID : 6306802513271
Option 31D : 6306802513273
Option 4 ID : 6306802513272
Status : Answered
Chosen Option : B
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Question ID :
Option 11D :
Option 21D :
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Option 41D :
Status:

Chosen Option :

630680642011
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680642009
6306802513454
6306802513452
6306802513451
6306802513453
Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680641970
6306802513295
6306802513298
6306802513296
6306802513297
Answered

A
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Question ID : 630680641965
Option 11D: 6306802513277
Option 21D: 6306802513276
Option 31D : 6306802513275
Option 41D 6306802513278
Status : Answered
Chosen Option : B
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Question ID : 630680641942
Option 11D : 6306802513184
Option 2 ID : 6306802513186
Option 31D : 6306802513183
Option 4 1D : 6306802513185
Status : Answered
Chosen Option : A
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XD FelrqH A
Question ID : 630680642015
Option 11D : 6306802513477
Option 2 ID : 6306802513478
Option 31D : 6306802513476
Option 41D : 6306802513475
Status : Answered
Chosen Option : A




Q.27 In which scenario is it mandatory to use double insulation for electrical appliances in India?

Ans

« A Appliances used near water sources
X 8. Low-voltage appliances
X . Appliances with metal casing

X D. Appliances used in dry conditions

Question ID : 630680642006
Option 11D : 6306802513442
Option 2.1D-: 6306802513440
Option 3 ID : 6306802513441
Option 4 ID: 6306802513439
Status : Answered
Chosen Option: C
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Question ID : 630680641979
Option 11D : 6306802513331
Option 2 ID : 6306802513333
Option 31D : 6306802513332
Option 41D : 6306802513334
Status : Answered
Chosen Option : A
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Question ID : 630680641948
Option 11D : 6306802513207
Option 2 ID : 6306802513208
Option 31D : 6306802513209
Option 41D : 6306802513210
Status : Answered
Chosen Option: C
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Question ID': 630680641967
Option 11D : 6306802513283
Option 2 ID : 6306802513286
Option 3'1D: 6306802513285
Option 4 ID : 6306802513284
Status : Answered
Chosen Option : B
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Ans x e
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Question ID : 630680642007
Option 1 ID : 6306802513444
Option 21D : 6306802513443
Option 3 ID : 6306802513445
Option 4 ID : 6306802513446
Status : Answered
Chosen Option: D
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Question ID : 630680641950
Option 11D : 6306802513217
Option 2 ID : 6306802513216
Option 31D : 6306802513215
Option 4 ID : 6306802513218
Status : Answered
Chosen Option: C
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Question ID : 630680641961
Option 1ID: 6306802513261
Option 21D : 6306802513262
Option 3 ID : 6306802513260
Option 41D: 6306802513259
Status : Answered
Chosen Option: C
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Ans X A
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Question ID : 630680642010
Option 1 ID : 6306802513455
Option 2 ID : 6306802513457
Option 3 ID : 6306802513458
Option 4 ID : 6306802513456
Status : Answered
Chosen Option: D
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Ans
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Question ID : 630680641995
Option 11D : 6306802513396
Option 2 ID : 6306802513397
Option 3D : 6306802513398
Option 41D : 6306802513395
Status : Answered
Chosen Option : A
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Question ID :

Option 11D
Option2'ID

630680641981

: 6306802513339
: 6306802513342
Option 31D :
Option 41D+

Status :

Chosen Option : D

6306802513341
6306802513340
Answered
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Ans
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680641954
6306802513231
6306802513233
6306802513232
6306802513234
Answered

D
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Ans
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680641939
6306802513172
6306802513171
6306802513174
6306802513173
Answered
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Question ID : 630680641963
Option 11D : 6306802513268
Option2'ID : 6306802513270
Option 3 ID : 6306802513269
Option 41D+ 6306802513267
Status : Answered
Chosen Option : D
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Ans
x o ITg BT g3 WIS 9N, ¥ETHE 11833
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Question ID : 630680642013
Option 11D : 6306802513470
Option 2 ID : 6306802513469
Option 3D : 6306802513467
Option 4 ID : 6306802513468
Status : Answered
Chosen Option : B
Q.41 Which type of filter is commonly used in conjunction with a rectifier circuit to reduce voltage ripples in the output?
Ans & n Low-pass filter
X 8. Bandpass filter
X C. High-pass filter
X b. Bandstop filter
Question ID : 630680641974
Option 11D : 6306802513311
Option 2 ID : 6306802513313
Option 3D : 6306802513312
Option 4 ID : 6306802513314
Status : Answered
Chosen Option : A
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Question ID : 630680641940
Option 11D : 6306802513178
Option2'ID : 6306802513176
Option 3 ID : 6306802513177
Option 4ID.+ 6306802513175
Status : Answered
Chosen Option : B
Q43 What is the purpose of sectionalizing switches in a distribution network?
Ans X A To protect against overcurrent
X 8. To control power factor
« C. To isolate faulty sections for maintenance
X D. To regulate voltage levels
Question ID : 630680642004
Option 11D : 6306802513432
Option 2 ID : 6306802513434
Option 31D : 6306802513431
Option 4 ID : 6306802513433
Status : Answered
Chosen Option: A
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Ans d
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Question ID : 630680641956
Option 11D : 6306802513239
Option 2 ID : 6306802513241
Option 3 ID : 6306802513240
Option 4 ID : 6306802513242
Status : Answered
Chosen Option: B
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Question ID : 630680641946
Option 11D : 6306802513199
Option2ID : 6306802513202
Option 31D : 6306802513201
Option 41D :'6306802513200
Status : Answered
Chosen Option : D

Q46 What does the term "kVA rating" indicate in a transformer specification?

Ans

X A The total weight of the transformer.

X B

The efficiency of the transformer in converting electrical power.
« C. The apparent power capacity of the transformer.

XD
The maximum temperature at which the transformer can operate.

Question ID : 630680641960
Option 11D : 6306802513258
Option 2 ID : 6306802513256
Option 3 ID : 6306802513257
Option 4 ID : 6306802513255
Status : Answered
Chosen Option: C
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Question ID : 630680641959
Option 11D : 6306802513254
Option 2 ID : 6306802513252
Option 31D : 6306802513251
Option 41D : 6306802513253
Status : Answered
Chosen Option : A
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QuestiondD: 630680641951
Option 1.ID : 6306802513219
Option 2 ID: 6306802513220
Option:3 ID : 6306802513221
Option 4 ID : 6306802513222
Status : Answered
Chosen Option: D
Q.49 &= Weewaw ofFe F, AC (eetaied HiT) # DC (ST ie) ¥ agoe & (o Faw s &
ST BT S 27
Ans XA
vE 4
XC B
XD 2
Question ID : 630680641973
Option 11D : 6306802513310
Option 2 ID : 6306802513308
Option 31D : 6306802513309
Option 4 1D : 6306802513307
Status : Answered
Chosen Option: D
Q.50 ¢
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Ans : . + .
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5 . o .
X b B TS Teh 8¢ o T &
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Question ID : 630680642003
Option 11D : 6306802513427
Option 2 ID : 6306802513430
Option 31D : 6306802513429
Option 4 ID : 6306802513428
Status : Answered
Chosen Option : A
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Question'ID : 630680641984
Option 11D : 6306802513354
Option 21D ;6306802513353
Option 8 ID : 6306802513352
Option 41D : 6306802513351
Status : Answered
Chosen Option : A
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v 5 g

Question ID : 630680641938
Option 11D : 6306802513170
Option 2 ID : 6306802513168
Option 31D : 6306802513169
Option 4 ID : 6306802513167
Status : Answered
Chosen Option: D
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Question ID : 630680641943
Option 11D : 6306802513187
Option 2 ID : 6306802513189
Option 31D : 6306802513188
Option 4 1D : 6306802513190
Status : Answered
Chosen Option : D
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Question ID : 630680641941
Option 11D : 6306802513179
Option 21D : 6306802513180
Option 3.ID : 6306802513181
Option 4 ID : 6306802513182
Status :‘Answered
Chosen Option: B
Q55 Pafreer TemeeET & West F, aifeee WEA WUTE HT AR 4T 32
Ans XA 2
X516
vC 8
X010
Question ID : 630680641975
Option 11D : 6306802513315
Option 2 ID : 6306802513318
Option 31D : 6306802513316
Option 41D : 6306802513317
Status : Answered
Chosen Option: C
03 afFew At & TeT F 3% soEgHEIeT B (3% SUHAUE) F4T &2
Ans
X A FreT T i #1930 =T Tem g4
X B Arer Fr 71fg Fr Tona I T
g S Y
v o A Aeee % BAOla RRr # 3o aees|
* w
X 0. Arex @ Rsrerr 3mfd # e 3|
Question ID : 630680641955
Option 1 ID : 6306802513236
Option 21D : 6306802513235
Option 3D : 6306802513238
Option 4 ID : 6306802513237
Status : Answered
Chosen Option : B




Q.57 Why is it essential for a synchronous motor to be initially started as an induction motor?
Ans X A To minimize stator losses

X 8. To reduce power consumption

X C. To maintain constant initial inertia

« 0. To achieve synchronous speed

Question ID : 630680641988
Option 11D : 6306802513369
Option 2 ID : 6306802513368
Option 31D : 6306802513370
Option' 41D.: 6306802513367
Status : Answered
Chosen Option: D
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Question ID : 630680642008
Option 11D : 6306802513450
Option 2 ID : 6306802513449
Option 31D : 6306802513448
Option 4 ID : 6306802513447
Status : Answered
Chosen Option: D

Q.59 gz A 3R B 3T v 3@EE Q A AND 12 F T, gAR 9 1 3EeYe e, = A dae S
As oy A=1, B=1

x5 A=0, B=1

xXc A=0, B=0

X 0. A=1, B=0

Question ID : 630680641977
Option 11D : 6306802513324
Option 2 ID : 6306802513326
Option 31D : 6306802513323
Option 41D : 6306802513325
Status : Answered
Chosen Option : A
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Question ID : 630680641962
Option 11D 6306802513264
Option:2 ID : 6306802513263
Option 31D : 6306802513266
Option 41D : 6306802513265
Status : Answered
Chosen Option : B

Q61 N-zrew arew FHhsTeR T & T sveEres F W R A gt Fews S §2
A v orERRE

KBW

X ¢ Ao

X fafeea

Question ID : 630680641966
Option 11D : 6306802513279
Option 2 ID : 6306802513281
Option 31D : 6306802513282
Option 41D : 6306802513280
Status : Answered
Chosen Option: D
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680641971
6306802513299
6306802513302
6306802513300
6306802513301
Answered

B
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ST 37

Ans X A Qﬂ?ﬁﬁ'ﬂﬂ'
X B SFFIT(Zinc)
X C. FﬁfﬁT
v fafw

Question ID :

Option 11D
Option2'ID

630680641998

: 6306802513407
: 6306802513408
Option 31D :
Option 41D
Status :

Chosen Option :

6306802513409
6306802513410
Answered

A

Q.64 What is the primary function of a Miniature Circuit Breaker (MCB) in an electrical circuit?

Ans

& B. Resistance control

« C. Current interruption

X D. Signal transmission

X A Voltage regulation

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680641986
6306802513361
6306802513360
6306802513362
6306802513359
Answered

Cc
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AIS X\ TAGET AR

X B BAES Fr Tear

X e FE
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680641972
6306802513304
6306802513306
6306802513303
6306802513305
Answered

D
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Question ID : 630680641993
Option 14D : 6306802513389
Option 2.ID : 6306802513388
Option 3 ID : 6306802513390
Option4 ID : 6306802513387
Status : Answered
Chosen Option: B
Q.67 vy . .
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Question ID : 630680641937
Option 11D : 6306802513166
Option 21D : 6306802513163
Option 31D : 6306802513164
Option 41D : 6306802513165

Status : Answered

Chosen Option :

c

Q68 RfSew wifem wfe & EX-OR (TFaaefea OR) 3T & wrufds & a7 82

Ans
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 B.
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680641978
6306802513330
6306802513329
6306802513327
6306802513328
Answered

D
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Ans

W C.

FArSTer T AT F AR F AT ST Fr AN snTe-EEe § gHEr

X 0. BT o THT HITHUHE I Fr 3T TFSAT

QuestionID: 630680642012
Option 1.1D : 6306802513464
Option 2 ID : 6306802513463
Option3.ID :6306802513466
Option 4 ID : 6306802513465
Status : Answered
Chosen Option: C
Q.70 471 FeromER H, I TE A A ¥ UF H 99T o & Aw frew e s (g )
T FITHT AT 27
Ans A D
x5 4
xXC 3
2D 1
Question ID : 630680641980
Option 11D : 6306802513336
Option 2 ID : 6306802513338
Option 31D : 6306802513337
Option 4 1D : 6306802513335
Status : Answered
Chosen Option : A
Q71 |E faws & ¥AR 79 AT AT F BT WEF & 9N A6 & FO0 aed e dweet 1 e
FT gy =fEe?
Ans @A 58 m
XB 65 m
XCB.1m
XD 55 m
Question ID : 630680642005
Option 11D : 6306802513436
Option 2 ID : 6306802513438
Option 31D : 6306802513437
Option 4 1D : 6306802513435
Status : Answered
Chosen Option : D
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Question ID: 630680641945
Option 11D : 6306802513198
Option 2 ID : 6306802513197
Option 31D 6306802513195
Option 41D : 6306802513196
Status : Answered
Chosen Option: D
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Ans :
X faega ofFT & Tafga &=
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Question ID : 630680642000
Option 11D : 6306802513418
Option 2 ID : 6306802513416
Option 31D : 6306802513417
Option 41D : 6306802513415
Status : Answered
Chosen Option: D
Q74 What does the "breaking capacity" of a fuse indicate?
Ans  F A

The ability of the fuse te interrupt a fault current without being damaged.

X B.
The maximum current the fuse can safely carry continuously.

& C. The time it takes for the fuse to blow in the event of a fault.
X D. The time it takes for the fuse to blow in the event of a fault.

Question ID : 630680641983
Option 11D : 6306802513349
Option 2 ID : 6306802513348
Option 3 ID : 6306802513347
Option 4 ID : 6306802513350
Status : Answered
Chosen Option: C
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Ans
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Question ID : 630680642001
Option 1 ID: 6306802513419
Option 2'ID.: 6306802513421
Option 3 ID : 6306802513420
Option 41D 6306802513422
Status : Answered
Chosen Option: C
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Question ID : 630680641958
Option 1 ID : 6306802513248
Option 2 ID : 6306802513249
Option 3 ID : 6306802513247
Option 4 ID : 6306802513250
Status : Answered
Chosen Option: D
Q77 frer & Fi @ o Rgge Tuw 1 Aifow 57 F @e 3R 97 = F o SR
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Question ID : 630680641985
Option 1 ID : 6306802513357
Option 2 ID : 6306802513355
Option 31D : 6306802513358
Option 4 ID : 6306802513356
Status : Answered
Chosen Option : A




@78 ¥y AR T IV I TAA FAT G TEAURT WA AET?

Ans X A
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X C.
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Question ID: 630680641947
Option 1 ID : 6306802513205
Option 2 ID : 6306802513206
Option 3D : 6306802513204
Option 4 ID : 6306802513203
Status : Answered
Chosen Option : B
Q79 sofegs w97 & #id @ goe 9ga T f AT FA B A T F et w6 o Seer
&
Ans
v A TESA
X8 §hr
X C TTEHHET
XD Sy
Question ID : 630680641999
Option 11D : 6306802513413
Option 21D : 6306802513412
Option 31D : 6306802513414
Option 41D : 6306802513411
Status : Answered
Chosen Option : A
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4.ID :
Status :

Chosen Option :

630680641991
6306802513380
6306802513382
6306802513379
6306802513381
Answered

D




